RAVENNA No-

HOLTTI

©

42

60

12
17

®8x30

ooy d4x30

@))-‘JDDDDMDDDMMDDI ®6x70

&NM\\\\IMQ\\\ 'w//

©

/ N o o
7
N
&1/4
A
£

&

L o T - D
NN o~
< | < ©© -
2 2
S X | 0
© N
= = X o
© N
= = 2 3
= =~ | = | ©
))@ =D
| | =
=
< m O 0O W

www.ravenna.gr



1 x2

\
\
\\

Y

A DI M6x80 10
B 10
G B 8x30 14

\
b

I

M6x80 | 20
B 20
G (B o8x30 12




@)-‘JMMMMM)' ®6x70

12

OPTION A

A

OPTION B

Y M6x80

Iy M6x70

®8x20

o Mmoo ™| >

(B ©8x30

N O O NN




6

@)))))))))))))))))))))))‘ M6x25

60

B P4x30

()

®s

®a)







EAAHNIKA

Inuavtikn mhnpodopia - AlaPdaote npooektikd. Napakadw GUAGETE yua pedhovTikn avadopd.
Tuppoulr Iuvappoloynanc

Adaipéote oha ta efapTnpoata anod o kouTtl kot tafivopnote ta faon peyeBouc yua va ELOTE olyoupol OTL
unapyouv oha riplv tnv ouvappohdynaon. AkohouBriote Tic obnyiec yua ypriyopn, EUKOAN Kol OwaoTth
guvappoloynarn.

INUOVTLKO

ToroBetnote ta efapriuata oe kaBapn ko opadrn enubavela yio va anodUyEeTE ypOToOOUVLES
KoL YTUTOA OO, OT0 KOG,

Mnv odlyyere eviedwe tic Ploec peyplL va ohokANpwoeTE TNV ouvappokoynon.

Zuppouléc Aodaleiog
MeplEXEL LUKpA KoppdTia mou prnopel va obnyrfoouv g nviypd oe neplntwon katdnoonc.

ZUVLOTOUE THV QMOMAKpUVon JKpwy Tanduwy Kata TNy SLEpKeLd TG ouvapuoldynaonc.

O koUKETEC Bev ival katdAAnAec yio modid katw Twy £6U6) sTwv, yia anmoduyr] TPAUHATIONoD oo TTTwaon.
Mrv ouvBEete ) kpepdte Mote vAkd ou Sev eival oyeblaopéva yua xprian LE To kpePdr, onwe ayowLad,
ondykouc, kopdovia, KPENUROTPES, WVEE, TOAVTES KTA.

Ta et pnopel va maybeutoly petafl kpefatiol kol tolyou, fi opodric A napakelpevwy enimiwy. MNea Ty
anoduyr copapol TPAUMATLONOoU, N AmooTaor and To MPOCTHTEUTIKO KOl TIAPAaKELMEVWY EMUTAWY ,

Bev nmpénel va sivon peyaditepn and 730 mm ko pikpotepn and 230mm.

Mrv xprnowomnolelte To kpePATL EAv KATOWO KOUUATL TOU okeAETOU Elval onaopévo ) Aelmel ko ndvra
akodoubeite tic obnylec. Elval anapaitnto va aepiletal ouyvd To SWRAETIO WOTE Vi KPATLETAL OF YaunAd
enineba vypaoiag kol TNV anoduyr dnpwoupylag pouyAag yUpw and to kpePdartL. MpoTelveTal i xprion
orpwpartog 190 x 90 cm pe péywoto uog 12,6 cm

ZuvioToU e ouyvd ENEYYO OF OMEC TIC EVIDOELS Yo vt BEROLWVECSTE OTL Vol OwoTa odLyLEVES,

To nmpoiov elval oupdwvo we BS EN 747-1:2012

ENGLISH

Important information - Read carefully. Please keep for future reference.

Assembly advice
Remove hardware from box and sort by size to check that all harware and parts are present before assembling.
Follow instructions below to ensure fast, easy and correct assembly.

Important
Place all parts on a clean and smooth surface, to avoid scratching or braking the parts.
Do not tighten any screws untill the complete unit is assembled

Safety Advice

Choking hazard. Contains small parts.

We strongly recommend that you keep children away from working area.

High beds or bunk beds are not suitable for children under six(6) years due to risk of fall injury.

Do not attach or hang items to any part of the bed that are not designed to be used with the bed.

For example: ropes, strings, cords, hooks, belts, bags, etc.

Children can get trapped between the bed and the wall, roof pitch, ceiling or adjoining furniture,

To avoid serious injury the distance between the top safety barrier and the adjoining structure shall not
exceed 75mm or shall be more than 230mm.

Do not use the bunk bed if any structural part is broken or missing and always follow the instructions.
Frequent ventilation of the room is necessary to ensure that humidity is kept low and to prevent mould
forming in and around the bed. The largest size of mattress recommended for safe use is 190cm x 90
with maximum thickness of 12,6 cm

We strongly recommend regular checks on all assembly fastenings to ensure they are properly fastened.,

The product complies with BS EN 747-1:2012

www.ravenna.gr



